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Abstract

The standing gravity wave problem on an infinitely deep fluid layer is considered
under the form of a nonlinear non local scalar PDE of second order as in [6] . Nonreso-
nance at quadratic order of the infinite dimensional bifurcation equation, allows to give
the explicit form of the quadratic change of variables able to suppress quadratic terms
in the nonlinear equation. We state precisely the equivalence between formulations in
showing that the above unbounded change of variable is invertible.

The infinite set of solutions which can be expanded in powers of amplitude ¢ is then
given up to order 2.

Key words: nonlinear water waves, standing gravity waves, bifurcation theory,
complete resonance.
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1 Introduction

This is the first of a series of two papers concerning the existence of two-dimensional standing
gravity water waves on an infinitely deep perfect fluid layer, non necessarily ”unimodal” as in
[6]. The nonlinear problem of existence of small amplitude standing gravity waves (” clapotis”
in french) comes back to Boussinesq (1877), Rayleigh (1915), Sekerkh-Zenkovich (1947),
Schwartz and Whitney [8] (1981), Amick and Toland [1] (1987) (see historical references
in [6]) who gave the asymptotic expansion of unimodal standing waves (only one dominant
mode at the main order €) respectively at order €2, 3, €%, conjectured an algorithm for
computing all orders [8], and finally showed that this algorithm indeed works [1].

For multimodal standing waves, which means that at order € there is a suitable combi-
nation of several modes, their existence is presumed, with no justification by Penney and
Price in [7] (see p.260), while much later a footnote p.168 in [8] claims after a significant
discussion during the review process, that they are not expected to exist, based on the pos-
sible occurence of secular terms at order 3. However, 13 years later, there were numerical
evidence (see Bryant and Stiassnie [2]) of the possibility to build the beginning (up to order
£100) of asymptotic expansions. Finally, the possibility to find a large family of approximate
solutions for our problem, in the form of asymptotic expansions in powers of the amplitude
e, was proved in [5]. The point here is to prove that all these asymptotic expansions in-
deed correspond to standing waves, each one existing for a set of values of € having 0 as a
Lebesgue point, i.e. dense at 0. Since we need to use a scalar formulation different from
the one used in [5] , we need to give precisely on this formulation, the formal asymptotic
expansions which serve as a basis for the proof of the existence of solutions. The general
form of these asymptotic expansions is deduced from a new formulation of the problem



obtained after a quadratic "normalizing” change of variable which is precisely studied here,
showing an equivalence between formulations. The second paper strictly follows the proof
made in [6] for the unimodal case, for showing the existence of all solutions which possess
these asymptotic expansions.

After scaling, there is one dimensionless parameter 1 + y = ¢g7'?/27\ where g is the
acceleration of gravity, T is the time period, A is the horizontal wave length. Due to a
scaling invariance in the problem, we may, without loss of generality, assume that p is close
to 0. We indeed look for non trivial doubly 27— periodic solutions of the following second
order nonlocal PDE, as deduced from the formulation introduced by Dyachenko et al [4]:

O L) — (14 pyHu! + HO{ SH((Lu bV H L) + (ML) (20 =0, (1)

where w is an unknown function of (z,t) € R?, the free surface of the waves being given in
the physical plane by

(&n) = (x +Hw(x,t), —w(x,t), (z,t) € R
In (1) the linear operator H denotes the periodic Hilbert transform with respect to x
H(cosnz) = —sin|n|z, H(sinnz) = sgn(n) cosnz (n # 0),

we denote by a dot or J; the time t partial derivative and by a prime or 9, the space z
partial derivative. The function D and the linear operator L, are defined as follows, for w
doubly periodic and smooth enough and any f € L2 = L*(R/27Z)

Lyf = (1+Huo)f—wHf
D = (1+Huw)?+w"™.

We look for solutions of (1) which are even in  and in ¢ (this is for eliminating solutions
deduced by shifting time origin and by translation in x). Moreover, since adding a constant
to w gives a new solution of the problem, we restrict our study to solutions w with 0 average
(they correspond to the same physical solutions). Equation (1) may be written as

F(w,p) =0, (2)

where F is a analytic mapping H;;"* x R — Hh’?_Q’ee, m > 3, where Hy;" is by definition
the subspace of functions even in x and in ¢ of the Sobolev space HJ' = H™{(R/27Z)*}.
Defining the nonlinear terms N>g, the quadratic terms M, and the terms of at least cubic
order N>3 we can write

Flw,p) = Low— pHw + Nso(w) (3)
= Low — pHw' + Na(w,w) + N>sz(w),
where
Low =0 — Hw'.

The kernel of Ly is infinite dimensional, spanned by
{cosq*z cosqt; q € N}.

One says that the problem is completely resonant, and this leads to an infinite dimensional
bifurcation equation. We show below that there are infinitely many formally bifurcating
solutions near u = 0 (see theorem 5), where formally means that we can compute infinitely
many different expansions in powers of the amplitude e, where i = £2/4, which are formal



solutions of (1). To prove such a result, we use a new formulation of the problem where all
quadratic terms in (2) no longer exist. This formulation results from a simple (unbounded)
quadratic change of variables (see Lemma 1). We then give the invertibility properties of
this mapping, which insures the equivalence between both formulations (see Theorem 2).

Acknowledgements The authors deeply acknowledge John Toland for many fruitful
discussions.

2 Bifurcation equation

Because of the basic non resonance property
/ / {expilg® + p* £ r*)x + (£q £ p £ r)t]}dxdt = 0, (4)

which is valid for any positive integers p, g, 7, the quadratic term of the bifurcation equation
cancels:

PoNg(@,@) =0 (5)

for any © € ker Ly, and where P, is the orthogonal projection in Lﬁb on ker Ly. Instead of
using directly the Lyapunov-Schmidt method on the formulation (1), let us use the possi-
bility of finding a quadratic change of variables which kills the quadratic terms in (1). The
possibility of finding such a quadratic change of variables is a consequence of property (5),
and was explicitely given in [5] with another formulation of the problem which exploits the
”holomorphic” part of the formulation, and originally exploits a Schwartz-Whitney conjec-
ture (see [1], [5]). In principle such a change of variable can be computed in using Fourier
series of quadratic terms in (1), and looking for a quadratic unknown change of variable
under the form of its Fourier series. However, because of the not very complicated form
of the quadratic terms in (1), we can also try to ”guess” the change of variable, since it
is simple, in using combinations of all possible monomials containing the operator H, such
that the evenness property of w is conserved.

Once this change is done, it is clear that the principal part of the (infinite dimensional)
bifurcation equation (linear and cubic terms), will be simpler to compute. Indeed, we can
show the following (below a term like O(||v]|P) means formally that multiplying v by A gives
a term of order O(A\?) when A — 0)

Lemma 1 The analytic mapping F' : Hgp — Hggfl, m > 2, defined by

v=w+ B(w,w") = F(w) (6)

with
B(wy,ws) = H(wyws) — wyHws — 2waHw,

defines, for sufficiently smooth doubly periodic w, a formal change of variables which changes
equation (2) into a new equation £(v, u) = 0 with no quadratic term in v. More precisely
we obtain

E(v,n) = Flw,p) + % B(w, F(w, p)) (7)
f(wvﬂ) = ng(vvﬂ)

where

E(w, 1) Y Lov — pHY' + Ns3(G(v)) + 0, B(G(v), No2(G(v)))
= Lov— pHY + N3(v,0,0) + 9, B(v, N2(v,v)) + O(|[v]|*),



G s the inverse of F (see the theorem below for the properties of G)
G(v) =v = B(v,v") + B(B(v,v'),v") + B(v,8; B(v,v")) + O(||v[[*),

and fu is the linear operator defined formally by (see the properties of fu below)

e = f+0,Bu,f)e f=Tyue
T, = I1-08,B(u,-)+8,B(u,d,B(u,-)) + O(||ul]*),
OuLu[0u] = —Tu0,B(6u,T").

Remark: Notice that F : Hg — Hhsh_l is an analytic mapping for any s > 2. We also
notice that adding a constant to w corresponds to adding the same constant to v. Hence for
the solution v we can restrict to the v with zero average.

Moreover, we have the following smoothness property for the change of variable:

Theorem 2 Fiz an arbitrary p > 3 and integer n > 1. Then there is r(p) > 0, and a
mapping
G : By(r) ={v € Hy;[[ollar <r(p)} — Hy,
such that
(a) F(G(v)) =v for each v € Bpyyn(r);
() [|G(V)||me < 2[|v]| 1
whenever v,v + h € Bpyn(r), r <r(p+n),

n

Gv+h)-G) = Gi(v)(h) + On(v, h), (8)
k=1
[|On (v, B)|| o = O( |h||?;in,l) as h — 0.

The k-linear operators Gy (v) : H;h"'k_l — Hg, for any s such that 2 < s < p+n — k have
the bounds
1Gr(0) (W)= < e, )| (9)

and are defined by the equalities
Gr(v)(h) = 0 F(w) 'Rk (h), w= G(v), (10)
in which
OwF(w)q = q+ H(wq') —wHq + H(quw') — gHw' — 2¢'Hw — 2w'Hg,
Ri(h) =h, Re(h)=— > B(Gi(h),G;(h)) for k>1.
i+j=k,
1<i,j<n

In particular, Gy = 0,G(v) = 0, F(w) 1.

Corollary 3 For w € H;h""l such that ||w||g=+1 < 7(s), the linear operator Ty, is bounded
in Hy, for s > 2 and satisfies

ITullecre) < e, ITwe = ellme—r < clfwl|goss el .

The proofs of theorem 2 and corollary 3 are in Appendix 2.
It then follows immediately the following smoothness properties for £(v, p) :



Corollary 4 For p > 3 there exists r(p) > 0 such that for ||v||gr < r(p), the map (v, u) —
E(v, ) is defined from Hé)h X R to Hfb_s, being analytic in . Moreover, for positive integer
kandp >3 +k, andv € Hfh, the (Gateauz-) derivative OFE (v, u) is a bounded k-linear
operator from H, to Hé’h_k_Q.

Remark: The above theorem and corollaries show that in a neighborhood of 0, the
solutions v of £(v, ) = 0 correspond exactly through the mapping F' to the solutions of
F(w, p) =0, provided that these solutions are smooth enough.

Proof of the lemma: this is based on the following properties of B :

Property 1: For smooth enough w; and wsy such that mows = mp(wiws) = 0, then

HB(’LUl,U}Q) = B(wl, H’LUQ)

Property 2:
B(w,w') + 2B(w, ') — B(w', %) = Na(w, w).

Assume for the moment, that these two properties hold. Then we can compute (since
mow' = mo(ww') = 0)

Lov—pHY' = Low— pHw' + B(w,w') + 2B(w,w') + B(w, ") — (1 + )0, B(w, Hw'")
= Low — pHw' + No(w,w) + 8, B(w, Low — pHw')
= f(wa:u') _NZ?)(w) + &CB(w,]:(w,u) _NZQ(w))’

hence
Lov — pHY + N (w) + 8, B(w, Nos(w)) = Flw, 1) + 8, Blw, F(w, 1))
which is the result of the lemma, once we notice that formally
G(v) = v+ O(|[v]]*).

It remains to prove properties 1 and 2.
Proof of property 1: we have

HB(w1,we) = —wiwg + mo(wiws) — H(wiHws) — 2H (weHwy)
B(wl,'ng) = H(lew2)+w1(w2 77T0’w2) 72(7‘[102)(7‘[101),

and the identity

H(wiHws) + H(waHwy) — (Hwi ) (Hws) + wiwz = (mowy)(mowz), (11)
which gives

HB(wy,w2) — B(wy, Hws) = mo(wiwe) + wymows — 2(mown ) (mows)

and property 1 is proved.
Proof of property 2: In (3) we have in particular (see [6])

No(w,w) = O, w'] + 0 {H(W?*) — 3uHw}, (12)
Na(w,w,w) = —HO{4(H)(H(w'H)} + w” (mor)?. (13)
Then we obtain
No(w,w) = wHw — w'Ho — 2HW — 4" Hair + 2H ()

= B(w,w') + 2B (') — B(w', W)

hence property 2 is proved. This ends the proof of lemma.1.



3 Generalized formal standing waves

In this section we show the main result of the paper:

Theorem 5 The solutions of (1) taking the form of formal expansions in powers of the

amplitude €, are such that
w = Z ew™, p=e2/4 (14)
n>1

with any choice of finite subset I of N

€
w = Z —g cosqg’zcosqt, e,==+1, (15)
qel
and
= - Z )xcosrtcosst+2—cos2rt+
r,s€l rel
+ Z %)z cos rt cos st. (16)
r.sel
7‘>S

Remark: Even though I infinite gives formally a sequence w(™, it appears in such a
case that in some parts of the computation unbounded terms would occur. The question
of the relevance of such solutions would imply a formulation weaker than the one we are
taking here.

Proof of the theorem: Let us consider the equation

Ew,p) =0 (17)
and decompose formally
v = 04T, ©=PFPw, T=Q (18)
e = Z A, cos ¢*x cos gt, T((]Z) =0
qeN
where v is the coefficient of cos nz cos gt in the Fourier expansion of v. Then (17) becomes
formally

where formally

OrQo€(0,0) = Lo

which is formally invertible in the subspace of smooth functions orthogonal to ker Ly in
Lgh. Hence, solving the first equation with respect to T in function of (0, i) gives a formal
solution

T =Y(0,u) = 0(0]])

which can be put into the second equation instead of T, for getting the following (formal)
bifurcation equation:

G(0,1) Y PyE(© + (0, 1), 1) = 0,

where

G(O, 1) = —uHO' + Po{N3(0,0,0) + 0, B(6,N2(8,0))} + O([[e][*). (19)



In fact, we can show the following fundamental (and simple) result probably related to the
integrability of the cubic normal form of the system put into a Hamiltonian formulation (see
Craig and Worfolk [3])

Lemma 6 For
0= Z Ag cos ¢’z cos gt
qgeN

the cubic order terms of the bifurcation equation satisfy formally

1
Py{N3(0,0,0) + 9,B(0,N5(0,0))} = -3 > O A% cos g’z cosgt.
qeN

Proof: see Appendix 1.
End of the proof of the theorem: Now setting u = ¢2/4, we see from the form of

(19) that
2

G(eo, EZ) =3{Gy(O) + 5g~(®, e)}

and from Lemma 6 1

Go(©) = 1 Z(l — q4A3)q2Aq cos ¢*x cos qt.
qeN

Let us take any finite subset I of N, and define

€
oW = Z —g cos ¢*x cos qt,
qel

where ¢, = %1, then Go(©(M) = 0. We can then look for a formal expansion in powers of ¢,
solution of

G(©,e%/4) =0
under the form
0=>Y el
p>1

All ©®) p > 2 may be computed iteratively, since at each step we just need to invert the
operator deGo(OM)) defined for

0= Z aq COS ¢>x cos gt

qeN
by
1
{a®g0(9(1))9}q = Z(qQ - 3q6A3)aq
B f;g—zaq ifgel
raq ifqél

This linear operator is indeed formally invertible. Coming back to the corresponding formal
solutions w of (1), we can therefore compute the expansion (14) with any form (15) of w(*).
The computation of w(?) is useful for the proof of existence of these solutions. A simple
identification at order €2 gives

Low® + Ny (w™, w®) =0,



which is already computed (see (20))

No(w M) = E eress cos(r? + s?)z{cos(r — s)t — cos(r + s)t} +
r
r,sel

1 d
+ Z €r€s cos(r? — sQ)zE{sin(r + 8)t —sin(r — s)t} +

r,s€l, r>s

+ Z cos 2rt,

rel

where we observe that the finiteness of the set I allows to define Na(w™) w()). The result
of the theorem is then straightforward.

4 Appendix 1

In this appendix, we prove lemma 6. First we compute AN5(0,0) :

No(©,08) = Z A, Agrs® cos(r? + s%)ax{cos(r — s)t — cos(r + s)t} +

T,8

d
+ Z A, Agr?scos(r? — 32)$E{sin(r + s)t —sin(r — s)t} +

r>s
+ Z AZr* cos 2rt. (20)
Now, for Pyd,B(0,/N>(0,0)) we use the following property 3 of B
(B(wi, w2), w3) = (B(wr, w3), wa),

from which, we obtain

Py0,B(0,/N>5(0,0)) % ((0,B(0,/N2(0,0)), cos ¢z cos qt))

= q—((B(@, sin g%z cos qt), N2(©, ©))).

T2

We then need to consider B(©,sin ¢?z cos qt) :

1
B(O,sing’xcosqt) = Z Ay cos(p* + ¢*)z cos pt cos gt + §Aq cos® qt +
P

+ Z Ay cos(¢* — p?)z cos pt cos gt.

p<q
Let us now consider PyN3(0,0,0). We have from the definition (13) of N3
1
{PN3(0,0,0)}, = pW\/a(@,G,@),COSq2$COSqt>>

2
% ((2H(w'Hab), 2(Hab) cos > cos qt))

since my© = 0, so we obtain

QH(w' Hw) = — Z rs® A, Agsin(r? + s?)x sinrt cos st +

TS

d
+ TZN rsA, Agsin(r? — SQ)ZEE (sinrt sin st)



and
2(Hai) cos g*x cos qt = ZpAp{sin(p2 + ¢*)z + sin(p? — ¢*)x} sin pt cos gt.
P

Now we finish the calculations of
1
—((B(8,sin ¢’z cosqt), N2(©, 0)))
and 1
3 ((2H (w'Hab), 2(Hab) cos > cos qt)),

noting that for computing the integrals and ending the proof of lemma 5, we use the following
lemma (elementary algebra):

Lemma 7 (nonresonant coefficients) The set of positive integers which satisfy

(i) ¢ +p* = r*+s* or
i) $4p = 1o
with qtptr+s = 0,
then also satisfies (resp.)
(ii) g+p = r+s, orq+r=p+s, orq+s=p+r.

Using the above expressions in the calculation of the scalar products for

% ((B(©,sin ¢*z cos qt), N2 (0, 0))) + % ((2H(w'Hab), 2(Hab) cos ¢ cos qt))

we can show that the sum of the contribution of the simple terms and of all terms where
part (i) of the above lemma applies is

1 4 43

It then remains to compute the terms where part (ii) of the above lemma applies, and it can
be shown (after symmetrization) that these terms cancel. This ends the proof of lemma 6.

5 Appendix 2

In this Appendix we prove theorem 2. Let us consider the mapping F' : w — v defined by
(6), it is easily seen that F' : Hf — Hhsf1 is an analytic mapping for any s > 2. We first
need three auxiliary lemmas.

Lemma 8 Let 1l < « and

M) =Y f&=mgm), f9>0,

ne€Z?

then

DA+ ME? <cla) [ D+ FEO* | | Do A+£)g(¢)?

£ez2 £ez? cez?



Proof. This is just a rephrasing of the classical fact that the space Hg, is an algebra
when oo > 1. m

Lemma 9 Let s > 2 and s > 0, and let us define
[H,a]u = H(au) — aHu

then the inequality
M, alu'l| = < c(r)llall g lul -

holds for any a € Hy, and v € Hj,.

Proof. It is easy to see that (with n = (1, 75))

[H, aJu'(€) = — > (sgn & —sgn ny)mia(s — n)a(n) (21)

nez?

We then use the inequalities

2(1+ & = ml),
c(I+[&=nD)* + (1 + [nl)?

(14 [ny)|sgn &; — sgn 7,
(1+[¢])°

IN A

which leads to

2

da+&y [Hoalu? < 4c? >+ E=nP)la DS mlaml ] +
£ez? nez? nez?
2

+H4E | YA lE =l —ml | D @+l lam).

ne€Z? ne€Z?

It remains to note that for s > 2,

> nlla(ml < es)lul -, (22)

n€ez?

and the lemma follows. m

Lemma 10 For any 2 < s < p there is a positive constant C(s,p) depending on s,p only,
such that if a € Hy, and C(s,p)l|al|m» <1, then the equation

a(x)u’(z) +u(z) = v(z), veH] (23)
has a unique solution u € Hg, satisfying the inequality
lullmre < (1= C(s,p)llallme) " [0l are-

Proof. Without loss of generality we can assume that a,v € C°°(R?). Consider the
second order equation
—eu +au' +u=v (24)

with a small positive parameter . Multiplying both sides by v and integrating over a period

we obtain
// 25u + (2 — a')u? dxdt*Q//vudxdt

—_—T —T —T —T

10



For a satisfying the inequality |a’| < 2 we have |lullo < ¢||v]lo. It follows from this and
general theory of second-order ODE that for a such a, equation (24) has a unique solution
ue € C*°. Now we need a priori estimates for wu..

Multiplying both sides of (24) by (1 — A)%u, A = 92 + 97, and integrating by parts we

obtain o -
/ / (20 + 2~ )’ + Rw) dw =2 / / (1= &) Powda, (25)
where
R = 2(1 _ A)S/Q(aul) _ 2a(1 _ A)S/QUI, w— (1 _ A)S/Qu-
Note that

R =21y [(1+E)72 = (141 Ina(€ — n)an),

nez?
which gives

IREOI< e D> [([1+)ED2 4 (1+7) D2 — ¢lla€ — n)lIna(n)| < T(6) + 12(€)

where

() = eI+ 3" n—¢lla —n)llna(n)|

nez?

¢y In—é€lla€ —mIt +17)*2li(n)|.

neZ?

I(¢)

From Lemma 8 with @ = s — 1, and since s < p, we conclude that
1/2

S 0E?] <)l

£€Z?

al| e (26)

On the other hand, the standard convolution estimate yields
1/2 1/2

YNoL©)?*] <> lEa@ | Yo a+e)a@r] . (27)

§ez? £ez? £€z2

Noting the estimate (22) for p > 2, we conclude from (27) that

1/2
Yo LE* | <clsp)llulluslallws. (28)
£ez?
Combining (26) and (28) we obtain
1/2
IRl = | D2 IROP ] < cls.p)lullallallme- (29)
£ez?
From (29), (25) and inequalities
'l < e(p)llallar,  llwllzz = llu]l &

11



we obtain
2w/ (|7 + (2 = c)llall ar)llwl|Fz — [|R] 2llwll L2 < 2)|v]| w2
or
ellw I3 + (1= Cs,p)lallme)ullFre < [0l g [Jull m-

Thus, for 1 — C(s,p)||lal|g» > 0, we get the estimate for .

(1= C(s,p)llallze)llucllme <ol -

Hence for 1 — C(s,p)|lal|lm» > 0 solutions of the regularized problem (24) are bounded in
Hg, and we can suppose that they converge weakly in this space to some u € Hg,. Passing
to the limit in the integral identity

//suew (ap)" +ucp —vp)de =0

—T —T

we conclude that u satisfies equation (23) and the lemma follows. m
Proof of Theorem 2. We use a variant of the Newton iteration method for finding

the inverse of the mapping F. Fix v € H, fh, p > 3 and consider the sequence of functions wy,
defined by wg = 0,
—2(Hwp—1)w), + wy, = v — [Hywp—1]wl,_;, n>1. (30)

Note that, by Lemma 9,
I[H, wn—1]wy, [ < e l|wn—1]F0,

Set ¢ = 2C(p, p), where C(p, p) is a constant from Lemma 10. If co|lwp—1]|me < 1 we have,
by Lemma 10,

lwnllzzr < (1= callwn—1llme) ™" (0]l e + exllwn-1ll7). (31)

It follows from this that for any v satisfying the inequality

1

8(01 + CQ) (32)

[ollar <7 =

the functions w,, have the bound

1= V1—4(e + cQ)||v||Hp
[wnl[mr < |
2(01 + CQ) 1+ \/7

Hence for all v € By(r) the sequence w,, is well defined and satisfies inequality (??). Next
note that

o]l e < 1/(2¢2). (33)

_(2Hwn—1)(wn - wn—l)/ + (wn - wn—l) =
= —(2H(wn—2 — wp—1))w;,_; — [H,wn—1 — wp_2]w),_; — [H, wn_2](w;,_; — w;,_5).
Applying Lemmas 10 and 9, we obtain

lwn — wn—1llgr—1 < 2c3(|wn—1lEr + |wn—2llzv) | wWn—1 — Wn—2|| g1, (34)

where c3 depends on p only. From this and (33) we conclude that for v € By(r),

803
+ \/g
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||wn - wn—lHprl S r Hwn—l - wn—2||HP*1a (35)



It follows from this that there is r > 0, depending on p only such that for v € B,(r),

1
[wn — wn—1llgr-1 < llwn—1 — wn—2||gr-1. (36)
2

It follows from this and (33) that w, — w € Bp(2r) as n — oco. Hence there exists an
inverse mapping

w=F"'v)=Gw), G: By(r) — By(2r),

and from (33), we have
[lwllzr < 2|[v][#r-

Next, let us show that for w € Hf, the derivative 9, F'(w) which is in L(H, Hé’fl) has an

inverse in L(Hp) for 2 < s < p—1, and [|w|[g» small enough. Indeed, we can write for
w e Hﬁ and any W € Hfh

OpF(w) = Aj(w)+ Asx(w),
Aj(w)W = =2(Hw)W' + W,
As(w)W = [H,w|W' + B(W,w").

By Lemma 9 and (33), we have
[A2 ()W [ o1 < car|[W[ger, 3 <s <p. (37)

On the other hand, Lemma 10 along with (33) implies the existence of the inverse Aj' :
H, hst;1 — H, ustfl satisfying the inequality

1A ullgremr < 2ffullge-r, 3 <5 <p. (38)
Using the identity 0, F(w)~! = (1 + A7 A2)" Y A]! we then obtain, for r < 1/4c4,

||awF(w)_1||£(H§n*1) <4 (39)

Let us now fix r < r(n + p), v € Bpyn(r) and h € Hﬁj" such that v+ h € By, (r) and
show that k-linear operators Gy (v) are well defined and satisfy (9). We already proved that
this is satisfied for £ = 1. Suppose that the assertion is fulfilled for Gy, ..., Gx—1 satisfying
inequalities (9) and prove that it holds true for Gj. Since p > 3, we have for 2 < s < p+n—k

Bl <eon) 3 IG@M) e lIC (0) ()l aross <
it+j=k; i,j<k—1
cpn) S e Bl < o)l

iti=k; i,j<k—1
From this, inequality (39), and relations (10) we conclude that G}, satisfies (9) as said in
theorem 2. Our next task is to estimate the rest in (8). Set
wy =G +h), w=G), On=wy—w-» Gip(v)(h). (40)
k=1

It follows from (9) that

10all e < Nl + [[wllzze + Y IGr(0)(B)llze < 4r(p) + ellht]l gnrs—r < er(p).  (41)
k=1
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Substituting (40) into equality F(wp) — F(w) = h yields

OwF (wp)0,, — B(O,,0!) = — > B(G:i,G)), (42)

i+ji>n; i,j<n—1

where w = G(v). Note that

> IB(Gs, G)) [ r-+ < > 1Gi(0) (M)l o1 1G5 (0) )| r1e < ellRll 500
i+ji>n; i,j<n—1 i+ji>n; i,j<n—1
(43)
and
1B(On, Op) -1 < cl|Onll o= Onll e < er(p)||On | -1 (44)

Combining (39), (43),(44) we obtain
100l grv-2 < (1 = der(p) " hllgnin—s < cllPlhins- (45)

and the theorem follows.
For showing the first estimate of Corollary 3, we use again lemmas 9 and 10 with w €
Hh‘?'l, fe Hg, s> 2in the differential equation

—2(Hw)f + f =e— 0. ([H,w]f) + 2fHw'.

The last estimate in the Corollary 3 is then straightforward.
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